Macierze sztywnosci elementéw kratownicy
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Element "7" - blok macierzy sztywnosci
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Lx:=5m—3m-zz3.5m Ly:=—1m-§—2m:—2.555556m

¢N::\/(Lx)2+-(Ly)2::4.333689m
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Element "8" - blok macierzy sztywnosci
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Lx:=7m—3m-zz5.5m M:=5m-g—1m—2m:—1.333333m
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¢N::\/(Lx)2+-(Ly)2::5.659309m
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Element "9" - blok macierzy sztywnoSci
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X :=5m—-3m=2m M:=—1m-§—4m:—4.555556m
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¢N::\/(Lx)2+-(Ly)2::4.975247m
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Element "10" - blok macierzy sztywnosci
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= 5me— = Im+im. — = 1.222222m

Lx:=2m=2m
¢N::\/(Lx)2+-(Ly)2::2.343891m
N EA | (Lx)? Lx-Ly | (8387 5125] KN



